This is a very good assessment problem for percentage:
(The following actually happened): Recently my wife came home with the receipt
displayed below. She informed me that she and her mother went shopping and put

their purchases on the same bill. Each person’s purchases are marked on the receipt.

a. Calculate each person’s portion of the entire bill.

b. Show why reducing the entire bill by 35% is not the same as first taking off
15% and then another 20% off.



0l
7101 RENE CASH-1 9246 0184 251
124-T4S0351-H1S ACTIVE 1§ ~3.59
A24-79055836-K18 ACTIVE 1 3.%9

“105-75765949-KISSY TOPS 1 7.9%
: 124-T9055834-H1S ACTIVE 1 3.99
: 1+ 124-78410760-H1S ACTIVE 1 3.99
% 415-78740058-TBL/KTCHEN 1 4.99
o TIO0-TOSTITSI-HOUSEWMES 1 12,99
400-69252419-BAS KITOW 1 1.49
=1 DRIG 2.99 S0 OFF 1.50-

400-469252419-848 KITON 1 1.49

# ORIG 2.99 SOX OFF 1,50- ‘
400-57612047-BAS KITOW 1 3.99

00073287207844 UPC "
400-57412047-BAS KITOHW 1 3.99

- ,w . 0007327207844 UPT

S 428-63039721-GIFTWRAP 1 99
~L00725713019230 UPC »
428-63039740-GIF TURAP 1 .59

 00725713019247 UPC :
: | 428-83009721-GIFTWRAP 1 .99

. © 00T25713019230 UPC

428-63039721-GIFTURAP 1 .99

P ! i
*"v OS-TETITON-JEVELRY 1 4.99
& - 060-TB26TI4S-PANTIES 1 299
*’ \ 10299 3 0R MORE @ 2.66 EA .
S (060-78263345-PANTIES 1 2.99
' PO’ 18299 JORNORE @ 2.66 EA
: 411-78898889-61FT WRA® 1 .99
: ® 14029 UPC v
- g |
L3

"on- Discount 1SToff  11.02-
mamou DISCOUNT 202 12.45-

- . .
S suTOTAL 49.96
/L 8.05T TAX 3:9”?
‘_‘"’.:? m“- ”.o .
g CARD READ BY MSR
% b ACCOUNT NUMBER
« AUTHORIZATION ¢ 031249 -
- Card 33.58

2
&
:
:



